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Solutions

2. Copy the gl’aph of each funcrion and graph its inverse. For each gl’aph,

identify the points that are common to the function and its inverse. Which
inverse relations are functions?
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3. Determine whether each pair of functions described in words are inverses.
a) f: Multdiply by 3, then add 1; g: Divide by 3, then subtract 1.
b) f: Multiply by 5, then subtract 2; g: Add 2, then divide by 5.
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6. Determine the inverse of each linear function by interchanging the variables

b) f(x) =2 —x d) f(le:—%x—l f) f(x)— 3
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9. a) Determine f ' for the linear function f(x) = 5x — 2.
b) Graph fand ' on the same axes.

c) Explain how you can tell thatf" is also a linear function.

d) State the coordinates of any points that are common to both fand /™ L
e) Compare the slopes of the two lines.
f) Repeat parts (a) to (e) for g(x) = —%x + 3, h(x) = 2x— 1,

p(x) =6 — xand g(x) = 2.
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9. a) Determinefﬁl for the linear function f(x) = 5x — 2.
b) Graphfanclf_1 on the same axes.
¢) Explain how you can tll tha[f" is also a linear funcrion.
d) State the coordinates of any points that are common to both fa.ndf_'.
e) Compare the slopes of the two lines.
f) Repeat parts (a) to (¢) forg(x) = —2x + 3, b(x) = 2x — 1,
p(x) =6 — xand g(x) = 2. \
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9. a) Determinef_' for the linear function f{x) = 5x — 2.
b) Gmphfancl_;‘“1 on the same axes.
¢) Explain how you can tell thatffl is also a linear function.
d) State the coordinates of any points that are
e) Compare the slopes of the two lines.
f) Repeat parts (a) to (¢) forg(x) = —2x + 3, h(x) = 2x — 1,

common to both fand £~

p(x) =6 — x,and q(x) = 2.
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b) Graph fand £ ™' on the same axes.

e) Compare the slopes of the two lines.

p(x) =6 — xand g(x) = 2.
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ELF INVERSES.
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9. a) Determine ' for the linear function f(x) = Sx — 2.

¢) Explain how you can tell that ™" is also a linear function.
d) State the coordinates of any points that are common to both fand f~ b

f) Repeat parts (a) to (e) for g(x) = —E'x + 3, h(x) =2x— 1,
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9. a) Determinef_' tor the linear function f(x) = 5x — 2.
b) Grza.phfz;.m:lf_1 on the same axes.
¢) Explain how you can tell thatf_' is also a linear function.

d) State the coordinates of any points that are common to both fand ™.

e) Compare the slopes of the two lines.
f) Repeat parts (a) to (e) for g(x) = —3x + 3, b(x) = 2x — 1,
p(x) =6 — xand g(x) = 2.

(2.2)

10. For g(#) = 3t — 2, determine each value.
£(13) = £(7)
1
a) g(13) <) T

b) £(7) d ¢'(13)
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17. Given f(x) = 4(2 + x), find the value of £ if f ~'(—2) = —3.

x = <2+9> _5 -3
Tk - ¢~
X = 249 -z = -]

X 2 =Y -2 =
K
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